Naam: …………………………….		Datum:…………………..

Herhaling hoofdrekenen tot les 15:
Noteer tussenstappen op dit blad:
73540 + 3623 = ……………………………………………………………………………………………………………………………………

423,1 + 148,14 = ………………………………………………………………………………………………………………………………

45997 + 5999 = ……………………………………………………………………………………………………………………………………

69540 - 3620 = ……………………………………………………………………………………………………………………………………

24,8 – 15,99 = …………………………………………………………………………………………………………………………………

3486,12 – 230,3 = ……………………………………………………………………………………………………………………………

1,4 x 0,5 = ……………………………………………………………………………………………………………………………………

13,2 x 0,02 = ………………………………………………………………………………………………………………………………

2,2 x 5 = ……………………………………………………………………………………………………………………………………

0,081 : 9 = ……………………………………………………………………………………………………………………………………

40332 : 4  = ……………………………………………………………………………………………………………………………………

4,212 : 3 = ……………………………………………………………………………………………………………………………………

4 : 5 =   ……………………………………………………………………………………………………………………………………

[bookmark: _GoBack]3,22 : 4 =   ……………………………………………………………………………………………………………………………………


